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Before we prove the theorem , recall :

Lemmy Sps s = km (min) . If t is such

that mlt and htt ,
then slt .

(The least common multiple divides any other multiple .)

proof of thin :

let t -- lent and s -- km ( Ifl , lol)
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To see that s l t :

since I pot -- t,
since for -- op , this implies

disjoint cycles I

Thus pot =

Since p
and o are disjoint , must be that
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Then
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For a product of more than 2 disjoint cycles , work inductively :
induction

Sps 1mm - - . rn I = km ( ly , I , Izzy , . . . ygnl) .
"
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